

Chapter 3 Written Work #3

#3

$$\frac{dx}{dt} = k_1 x (a-x)$$

$$\frac{dy}{dt} = k_2 xy$$

$$\frac{dx}{dt} = k_1 x (a-x) \Rightarrow$$

$$\frac{dx}{x(a-x)} = k_1 dt$$

$$\frac{1}{x(a-x)} = \frac{A}{x} + \frac{B}{a-x}$$

$$1 = A(a-x) + Bx$$

$$x=a \Rightarrow 1 = aB \Rightarrow B = \frac{1}{a}$$

$$x=0 \Rightarrow 1 = aA \Rightarrow A = \frac{1}{a}$$

$$\frac{1}{a} \int \frac{dx}{x} + \frac{1}{a} \int \frac{dx}{a-x} = k_1 \int dt$$

$$\frac{1}{a} \ln|x| + \frac{1}{a} (-\ln(a-x)) = \frac{1}{a} \ln\left(\frac{x}{a-x}\right) = k_1 t + C_1$$

$$\ln\left(\frac{x}{a-x}\right) = a k_1 t + a C_1$$

$$\frac{x}{a-x} = e^{a k_1 t + a C_1} = C_2 e^{a k_1 t}$$

$$\begin{aligned}
 x &= \frac{1}{1 + C_2 e^{2K_1 t}} - \frac{x C_2 e^{2K_1 t}}{1 + C_2 e^{2K_1 t}} \\
 x(1 + C_2 e^{2K_1 t}) &= \frac{1}{1 + C_2 e^{2K_1 t}} \\
 x &= \frac{1}{1 + C_2 e^{2K_1 t}}
 \end{aligned}$$

$$\rightarrow \frac{dy}{dt} = K_2 x y = K_2 \left(\frac{1}{1 + C_2 e^{2K_1 t}} \right) y \rightarrow$$

$$\frac{dy}{y} = K_2 \frac{1}{1 + C_2 e^{2K_1 t}} dt \rightarrow$$

$$\ln|y| = K_2 \int \frac{1}{1 + C_2 e^{2K_1 t}} dt = K_2 \int \frac{1}{u} \frac{du}{K_1} = \frac{K_2}{K_1} \ln|u| + C_3$$

$$\begin{aligned}
 u &= 1 + C_2 e^{2K_1 t} \\
 du &= 2K_1 C_2 e^{2K_1 t} dt \\
 dt &= \frac{du}{2K_1 C_2 e^{2K_1 t}}
 \end{aligned}$$

$$= \frac{K_2}{K_1} \ln|1 + C_2 e^{2K_1 t}| + C_3$$

$$\begin{aligned}
 \ln|y| &= \ln(y) = \ln\left((1 + C_2 e^{2K_1 t})^{\frac{K_2}{K_1}} + C_3\right) \rightarrow \\
 y &= e^{C_3} (1 + C_2 e^{2K_1 t})^{\frac{K_2}{K_1}} = C_4 (1 + C_2 e^{2K_1 t})^{\frac{K_2}{K_1}} = y
 \end{aligned}$$

You can re-label,
but don't need to.
Book sees $C_2 (1 + C_1 e^{2K_1 t})^{\frac{K_2}{K_1}}$ for y .